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For this paper you must have: Pages Mark
« mathematical instruments.
2-3
You must not use a calculator. 4-5_
6-T
Instructions 8-9
¢ Use black ink or black ball-point pen. Draw diagrams in pencil. 10-11
« Answer all questions. 12-13
« You must answer the questions in the spaces provided. Do not write T
outside the box around each page or on blank pages.
« Do ali rough work in this book. Crass through any work you do not want to 1617
be marked. 18-18
20-21
Information 22-23
s The marks for questions are shown in brackets. TOTAL

» The maximum mark for this paper is 80.

« You may ask for-more answer paper, graph paper and tracing paper.
These must be tagged securely to this answer book.

Advice
« in all calculations, show clearly how you work out your answer.,
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' Answer all questions In the spaces provided
1 How many minutes are there in 3% hours?
Circle your answer.
[1 mark]
180.5 330 350
_ i
Ix60 = 180, 7!50230/ 160 + 3¢ = 210
2 Work out ) %4- 0.5
Circle your answer.
[1 mark]
0.30 06 0.75 0.9
= 4
0! S - = = - _'_, + 0 S‘ _ + Z _ 4 _
3 = = -z - = <
Z &, & ¢ & 4 0.7
3 Which of these shapes has the most sides?
Circle your answer. . ‘
[1 mark]
Hexagon @ Rhombus Trapezium
”m{] ZWM BAYON 11783001F
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4 Solve x~3=0 )
Circle your answer.
[1 mark]
X==3 x=0 x=2
3
+3 f Jﬁ'i i 214 3
5 Waork out 58 x 73
58 [3 marks]
BT
BEL
£ 0% 0
G234
S8x73= (7234
Answer 4'23[4‘
L 7
N Turn over p
N _—




R S T
h

MATHS  MADE casy

Do not witte
4 outside the
box
6 500 people are asked if they drink coffee.
9 ‘
0 say Yes.
20% of the people who say Yes drink at least three cups each day.
6 (a) Complete the frequency tree.
{4 marks] |
A x S00 = S0, GxSu = &S¢
[0
(0% OF (So = 45, o7 = 70
bso - 90 = 3(O
Drink coffee At jeast
three cups
each day
ves '
>
I
1Ll _—
0 4 1B/M/Nin17/83001TF



; 5 mxn
P
| .8(b)  What fraction of the 500 peopie drink et least three cups of coffee each day?
Give
mmhbunpl;uform. (2 marke]
90 . -
%o = %o
| 1
i Anawer /50
|
|
% 7 By rounding each number to the nearest 10,
{ estimate the anewer to 01 x 47
i 102
: You must show your working.
; 2 marks]
; 60x50%m: 30 o0
! {00 (00 /
|
!
!
!
! Answar 30
|
E Turmn over for the next question
|
;
!
|
|
|
1
|
3 8
Turn over b
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) 8 Nadia has £5 to buy pencils and rulers.
Prices
Pencils 8p each
Rulers 30p each
She says,
“1 will buy 15 pencils.
Then | will buy as many rulers as possible.
With my change [ will buy more pencils.”
H il how
ow many pencils and how many rulers does she buy? [6 marks]
|S Pemcits = 1Sx8& = (10x8) +(sx8) =80+l = /Z0p
' = £1.20
REMANING : £5 ~ £1.20 = £3.80
Z£3 = (0x 30, = 10 Ruers |,
j,,ts.éU Fol (7
60p = 2 x 3up = 2 RULERS RULERS
96380 - L5560 = 20 (MOT Encven FOR mpre
' RULERS)
l6p = 2x 8p = 2 PENGLS; Witk
TOTALS: 12 RuLERs, ISt 2 =[P pemces.
Answer ’ ? pericils, I Z rulers
[B/M/Jun17/83001F
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9 Wark out 26.68 + 12
| [2 marks]
Answer Z . ( lr
10 Work out % x 11
Give your answer as a mixed number.
[2 marks]
-_g.. % { ( —_ ..j.. ﬂ_ -— _'_?_Z - 3 2 +/
X ~ jod X I - Q - [l
© O | 0 0
= _'/
&=
b g
Answer tg
10
Turn over »




Oo nat
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box
n A triangle has perimeter 32 cm
32-10 = 22
4
[0
Not drawn
accurately
A square has perimeter 40 cm
[0
[0 [0
(0
Two sides of the shapes are put together to make a pentagon.
- Not drawn
accurately
22
[ O

o

i ‘ o
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Work out the peri f yentagon.
out the perimeter of the pentag [4 marks]

(‘LO/LJ-_ = (e = SIDE - Lewerw OF SAUARE
Alse [0 = 1BASE OF TRIANGCE
OTHER 7 SIPES OF TRIANGLE = 32-10 = 22.

4 SIPES O6F sauage = 30 om
TOP ZsSIpes OF pentagon = 22 em

PERIMETER = 30 + 27 = S cm

Answer 57 em

Turn over foc the next question

Turn over

B ' o
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12 A football team has P points.
P=3W+D

W is the number of wins
D is the number of draws

* 12 (a) A team has 6 wins and 2 draws.
How man ints does the team have?
v B [1 mark]

I7=(3¥£) t7 T 8 +2 =20

Answer ZO

12(b) After 33 games a different team has 53 points.
11 games were draws.

How many games has this team lost? —
P =53 D =II
= 3W+p) = |53 =3W +1l] |
P 2 2 —ii'4z = 3W /-u
‘?3‘ M =1t I".'z
e Wivs . 56 NUMBER of (osses = 93 = Il =]l = 78
Answer Zg
e
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13 2+ 0+ 1+ 7 =10
Make the following calculations correct.
Use only the symbols  +, — %, + and () [3 marks]
2 + 0 + 1 - 7 = -4
2 X 0 X 1 x 7 =20
(2 + o) x(1 + 7) =2

Tum over for the next question

Turn over »

WA _
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14 A number is picked at random from the first four prime numbers.
A number Is picked at random fram the first four square numbers.
The two numbers are added to get a score.
14 ! L -
(a) Complete the table £4 marks]
Square numbers
+ 1] 4| 9 [§
2713 (116
pime | 3 | & | #1211
numbers
ST 619 |1e]2
g L IL{(6]23
14(b)  Whatis the probability that the score is a prime number?
[1 mark]
3
“
Answer
9 3
3,000, F, 00 0, 2
N
RIS
& 3/5’
A
|
‘! 2 BN TT/B300MF
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15

In a school show,

gits:boys=1:1
girls who sing : girls who do not sing=1:2

8 gitls sing in the show.

How many students are in the show altogether? 13 ks

GIRLS WHO siNG : (IRLS WwHO DoN'T: TOTAL

xt/ ! : 8, 7 ! xy 3

L*g__ -1 "ulé " g K’ZQ'

"So TMERE ARE 7% GIRLS IN TOTAL

i1 = 26:24  se yHERE ARE 24 [0YS ALSe

=48 STUDENTS

NN

9 4
=

48

é’

Turn over for the next question

— e

"

Turn over »
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116 P and Q are points on the line Ax+2p=6
16(a) Complete the coardinates of Pand Q.
[2 marks]
x=0: 129=¢ | n=0: ,|3=(],
7 ,0-.—3,-.' I J [ I A
x =7
P(0,_3 ) a(_Ll ,0)
16() Drawtheline ar+2y=6 for values of x from -3 to 3 .
[2 marks]
Y
X==7:
3(-2) +29=(
—§ +7q =
+ z,jt):(z ¥t |
% =2 1
976
1..-—.-.._
3 -2 -1 0] 1 2N 3  *
AN
=24
. NN ST S
L
1 4 |

MATHS PADE EAs)
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7 Circle the expression which does not simplify to 3

)’ J A
Write the number  six million five thousand two hundred In staridard form.

6,005,200, = 4.0052 x |0°

18

yxyxy Wy P xy

[1 mark]

[2 marks].

23 4 s g

Answer 6. 0052 X /O‘

Turn over for the next question

Do nol write
outmds the
box

W

BT TIBI00NF
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) 19 (a) Use Bkmh=5 mph  to convert 96 km/h to mph

gRe peef
%.+8 =z
fQ XS = 60 Im!;/-
Answer 60 mph
18 (b)  xkm/h=y mph
Use | B.kmlh="5 mph  to write a formula for y in terms of x. 12 marke] |
; _ - _ 5
8y = 5% 2 ye 3s
[ d S
S
Answer M = Tx
J
i :

MATHS MADE

EASY
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20 Here is a circle touching a square.
Not drawn
/ [' accurately
8 Cin 8 Cim ‘
H
The area of the square is 64 cm>
Woaork out the area of the circle.
Give your answer in terms of . -
[3 marks]
E§x 8§ = 66—4 = SIDE oF sauare = §(Cm
WIDTH OF SQUARE = DIAMETER OF URCLE = §(im
= RADIVS = Lem, AREA= rtri= nix (F
= 7T
Answer " T em’
Turn over for the next question
Turn over »
BN 7I83001F

IR |
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| Billy wants to buy these tickets for a show.

4 adult tickets at £15 each

2 child tickets at £10 each
A 10% boaking fee is added to the ticket price,
3% is then added for paying by credit card.
Work out the total charge for these tickets when paying by credit card.

[5 marks]

bx [S = 60

2 x10 = 207" |

3—0 = (0ST OF TItkeTs
So  JOTAL TICKET CoSt

0% oF g0 = 5% = 0113/
= £84
| 7+ ¢F Z8 = 85;00 = (,88
37. 0F £8 < (.83 x 3 = 2,64
TOTAC CoST = 88+ 2,44 =£90. 66
Answer £ 70'64
£ x _
— o (0.8x3 = 266 _
Z%Z— / ° fov Z.64

TB/MAUNT T/AS00M F
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22 {(a = _IYE_S;
{a} Density
The mass of solid A is 8 times the mass of solid B.
The volume of solid A is 3 times the volume of solid B.
Complete the sentence.
[1 mark]
The density of solid A is Z times the density of solid B.
22 (b)  Average speed = dis,ta-"ce
time
If the distance is halved and the time is doubled, what happens to the average speed?
Circle your answer.
[1 mark]
x2 % 4 no change =2
Turn over for the next question
I
7 Z 27 27 &4
7
Turn over b

mu
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| 23 A regular polygon has an exterior angle of 20°
| _— n = H SiDES
Work out the number of sides of the polygon. 2 marks]
360
EXT, ANCLE = FFsmes L,
10
= [20 = 3o Zo Y8y
X XA
20n = 360 l
<2 <20
n= 18 |77 = 18 sipes
Answer I 8
24 l :3 = x:1
2 3
Circle the value of x.
[1 mark]
3 3 3 4
3 5 4 3

I
SN
t
o w
~
H

RN

i . F
2 0 ‘ 1BHWJun 1 /83001 F
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25 The table shows information about the times for 10 people to complete a task.
l Tima. t (mlnutes} : Frequency
} - - —
L 0 <1<20 ' 1 4
| 20<r<40 1 8 1
I ' i e
L 40 <1< 60 | 3 }
These statements are about the mean and range of the actual times.
Tick the correct box for each statement. rks]
3) [4 ma
anv oz (1x1) +(21x6) + (61 %
LOUEST FOSS”“'E ME ( ) ( 10
= [+ 126 4123_ 250 _ 55
———T(;——- T True False
The mean could be less than 20 minutes '/
The mean could be more than 40 minutes u/
The mean could be less thar 40 minutes _ \/
HIGHEST possioe mean = (1720) 1 (6x40) + (3X40) _ 74 yauy ¢ 180 = = by
'U fo 10
The range could be more than 40 minutes v
The range could be less than 40 minutes V]
The range could be more than 60 minutes
Mipimom = b| ~20 = 2|
MAYmum= 0 = = §9
7
Turn over »
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‘26 Write 36 as a product of prime factors. l\
Give your answer in Index form. [3 marks] |
%6 )
@ |y 3% = 2x2x3x 3
= 2
\ = 2%k 5 .
; z ?
» Answer 3 ¢ = Z ks 3
27 Circle the value of cos 90°
) , [t mari] |
1 B 1
2 2 '
Pl
”m! Mﬂﬂ lm  BMAT/EI0DHF




23 ovtskes the
VZB Solve the simultaneous equations.
2+y=18 ()
*-y=8 @ [3 marks]
| @"'@1 2 + q =18 Sy IV x=8;
| J
X*j.:g *‘18’3364-3
3x+ 0 =26 8 ={t9|_,
,33( = 724 i © 9 ]
-'1’3_I x :_._..5 ,"3 e
CHECK: Jx+u = [7x8) + 2 =1{+2 =18
J
Answer X< 8/ '/]:Z
) J
END OF QUESTIONS
E2
s
T
‘am IB/MLIUN T7/8300M F
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